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/* mexecl.c - xmain, prA, pEB */

#include <eonf >’
#include <kértels
#indiude <is:ks
#include <procihs
#idelude <sen
#inelids <mes
#include <g.Hs
‘gificiude <bivs.H>
#include <kbais.h

#dafine fNiE?fdﬁﬁéﬁg

extern int INITRET(};

i " ¥
/*... ——————————————— e e i e ke s Wl e e e e o e MW N R KA W e e e e R e e W A W T R W T e T e H
* wmain -- ewample of creating processes in PC<Xinu
WY o i v e i o i Gl i T e e e S et e R P A e M e B W e e G e e e e e e e G i WA W W A R R S e S WV
*/

void prA(), PrB();

xmain()

{

resume( create(prd, INITETK, INITPRIO, “proc 1", 1, 'A’') );
}

/* xexecl - emulabte urix execl in sinu %/

xexecl (void (*pE){), int parm)

{

struct pentry *ppti;

char *gaddr;

int *spl;

int ps; :
int dummy; E

disable(ps};

pptE & &proctab[cufrpid];

pptr->phasmsg = 0;

gpl = {int *) (pptr->pbase + pptr~>plen);
pptr«>pargd = 1;

*{——gpl} = pariy

*{--gpl) = {int) INITRE?T;

*(--spl)= (int) pf;

wegpls

*{--8pl) = INITF;

spl -= 2;
pptr->pregs = spl;
pptr->paddr = pf;

ctxaw (&dummy, &pptr*iyEéQE)? :
} /* memecl */
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* prA -- repeatadly print ‘A’ without ever terminating

veid prA({int ch)

{ : . ;
int 4; , . |
For{i=0; 1€ 12; i+%) ‘ '
{ .
pute (CONBOLE, ch);
pute (CONSOLE, "\n’);
}
glesp(5}); ' K
xexecl{prs, 'B'); \
}

™ . +

J M e S s et - B P T P o o A e N

* prB -« repextedly print H’ without ever terminsting

*/
volid pr8{int ¢h)
{ i
int i; o 3
for(i=0; i< 12*BO0; i+%)
‘putc (CONSOLE, ¢h); E

R R R R
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/* xexecl2.c¢ - xmain, pra, prB */

#include <conf.h>
#ipclude <kKermal.h>
#include <io.h>
#inciude «<proc.h>
#include <sem.h>
#irclude <msm.hs.
#includle. <gih> .-
#include <blos,H>
-finclude <k§ﬁi&}h>‘

#define INITF 0x0200

extern int INITRE®D();

/* —————————————— . -——w‘--—— —————————— -———v-—-.- ————— —-——————————————-——-v—uuu: wwwwwwww
"% ymain -+~ exaimple of creating processes in PC-Xinu
T s o o o PR A B b e e e T A e o s e i i H W W W e o e 1y 7y ey v e e o e e W v S A e e e R e e
*/

void pral), prchl2id();

savain ()
{

resume{ create(pri, INITSTK, INITTPRIO, "proc 1w, 1, A’} )
}

/* séxecl2 - emulate unik exeécl in xinu */

xéxQGIZ(VG}d (*p£)} (), int 0, ...}
0 -

gtYuct pentry *pptr;

char *gaddr;

int *spl, *a;

int ps, i;

int dummy;

digable(ps); .

pptr =.gp:octab[currbid];

pptr->phasmsy = 0;

spl = {int *){pptr->pbase + pptr->plen);

pptr-s>pargs = n;

a=n+ 1 + &r;

for(i=0; i < mn; i++)
*(-wgpl) = *(--a),

*(--gpl) = (int) INITRET;
*{--spl}= {int) pPE;
~-gpl;

*(--gpl) = INITF;

spl -= 2;

pptr-~»prege = s8pl;
pptr->paddr = pf;

ctxew({&dummy, &pptr->pregs);

} /* mexecl2 %/

s b el Y



/* ————————————————————————————— e M R T A P ey e e e T N B S e P Bt e Aok P W M e et P A e
* prA ~- repeatedly print ‘A’ without ever ta;m;nating

T e v e e e ———— i ke T T e M R O 1 o o e e e I - - o o o b b
*/
void prAa{int ch)
{
int i; Lo
for(i=0; i< io; i++)
{
p‘dtd {CQNSOLE, c¢hl;
putc {COREOLE, "\n’);
3
slesp(5); | ‘
- }exadl2 (prchl23; 3, iBY, rCr, 'DY);
}
!* ___________________ - [ ———— -w-w-—-------am—uum-—--w-wwwwwwm: mmmmmm

*/
void prchil23{int chi, int ch2, int ch3)
{
int i; ' ) .
fcr(izo;‘i< 10; i++)

{ ,
pubc(CONSOLE. ¢hl);
putc (CONSOLE, ¢h2);
putc (CONSOLE, ch3);
putc (CONSOLE, '\n’);

} !*‘fcrjfl

} /* preohi2d
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/* xfork.¢ - xmain, pri, pras */

#include <conf.h»
#include <kdrnel:hs>
#include <io.h»
#include <proc.h>
f#incliude <sem.h>
#include <mem.b>
#include <g.h>
#include <bios.h>
#iriclude <kbdio.h>

#define INITF 0X0200

extarn int INTTRET();

/* retip - cofipute ip of point of program */

int retip()
{
int ipl:

asm { ,
push ax
mow ax,{BP+2]
mov ipi,ax
pop ax '
}
return ipl;

}

/* xFork - xinu emulation of unix fork, will work
“only in the process main program, and pointers should not be nsed -
‘pointers in the child: process will poeint into the parent variable
:gpace */

int xfork(}

[

¢hay *paddr;

int *spl, *sp2, *sp3, *spid;
int pe, bpl;

int dummy;

int pid; ‘
gtruct pentry *pptr, *pptii;
int ipl;

disgable{ps);
pRtr = &proctablecurrpidl;
pid =« create(pptr->paddr,pptr->plen, pptr->pprio, pptr--rpname,0);

if (pid == SYEERK)
{
rastore(ns);
return SYSERR;
} /% LE w»/

pptrl = &proctab[pid];
asm mov spl,8p

gp2 = pptr->pbase + pptr~>plen;
sp3 = pptrl-»>pbase + pptrl-Splen;




/* give child process a duplicate stack */

fori{;ap2 »= 8pl;)

{ <
*pnd = %gpl;
BPA-~=}
Ep3--;

}

/* compute inatfﬁétiﬁglﬁéiﬁter £6r child process */
ipl = retip(};
/* child process starts HERR */
if {curxpid 1= pid} /* pareént pProcess only */
¢ *{int *;sp3 = ipir /* simulate a context switch */
8pd -= L;

/* gimulate call to ctiww */

/* bp adjusting - necessary because our xinu does not support
virtuil &ddressing, but rather uses resl addressing */

/* bp adjusting of ctiksw for child process - real mode */

asm mov bpil.bp
*(int *ygp3 = {(int)}pptrl->pbase) + ((bpl -({int)pptr->pbase)}):

sp3 -= 1 /* 1 word feor bp

*{ipt *}sp3 = INITF; /* FLAGS value *x/
Bp3 -= 1;

8p3 ~= 1; /* 2 words for si and 4i */

/*. compléte emulatidon of ctikew */
pptri-rpregs = gpi;

/* bp adjusting of xfork for child process - real mode */
asm mov bpl,bp :
spd =(int *) { {(int)pptri->pbase} + ({ bpl -{{int)pptr->phase)} }};

/% bp adjusting of xmain for child process - real mode */
asm { '
push ax
mov ax, (bpl
mov bpl,ax
}POP ax
*gpé = { {({int)pptri->pbase) + (( bpl ~((int)pptr->pbase}} }};

resume (pid);

restore(ps) s
return pids

Y /% LE */
alce ‘
raeturn 0Op /* child process ouly */

} /* xfork */
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/* tatxfrk.c - test xfork */

#include <conf.h>
#include <kernel.h>
#include <io.h>
#include <proc.h>
#include <sem.h>
#include <men.h>
#include <g.h>
#include <bios.hs
#inciude <kbdié.h>

/*wu«»m...w—-———----—-Ll-.'—..c....i._.....__.‘_...'_ mmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmm [
* xmain -~ examble o F creatlng processes in PC-Xinu -
[ . ......._..-.....__-_.:.._..._._._.."_ —————————————————————————————————————————————————
*/

volid process()
{ ‘
int n = 100;

int id, *nptr;

aptr = &n;
if ( ( id = =xfork{() ) == 0 )
{ /* sBalect child process */
printf("\n************** child procegg ***xkxxdkdkdd\nh),

*nptr = 999; /* Only this line lg different */

print€ ("PID ig %4 and ID is %d.\n", getpid(), id);
printf(*n is %d, *aptr is %4 and nptr is %d.\n", n, *hptr, nptr);
printf(ﬂ\nﬁif**‘********* child prOCeas .******W****\nli');

sleep (6); 4
printf("\n Press enter to continue ... ");
getchar{)

printf("\n************** child process LA L LA LAY LN

printf ("PID is %d and ID is %d.\n", getpid(), id);

printf("n is %d, *nptr is %d and nptr is %d.\n", n, *nptr, nptr);
pxintf(ﬂ\n****w*wi**%**ﬁ child process Hkdedhhokkhkh W) ;

n = 707;

printf(“\n************** child proceaessg ***********\nn);
printf("PID is %d and ID is %d.\n", getpid(), id);

printf("n is %d, *nptr is %d and nptr is %d.\n", n, *nptr, nptr);

printf ("\n*¥ ek kisnkdxd  child process *XFRAAFAEEw\nn),

return;
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gleep(b);

Printf (P\n***#¥*RX*E£E%F  Darent process ¥ EEFEREEREAnN);
printf ("BID is %d una I is %d4.\n", getﬁiﬁ() :
printfi"n is %d, *nptr ig %d and nptr is %d: ‘H, *optr, nptr);
printf (1\n****Fexkhdrded  parent process FEYERARxEax\pe),

n = 200;
*nptr = 300; :
printE(v\n**F¥k*Riwkdvss s parant procegpg *¥ErERREERE\nu),;
printf ("PID is %d and 'ID is %d.\n", getpid(), id);
printf(*h is %d, *nptr is %A and nptr is %d.\n", n, *nptr, nptr);
printf(n\n*ekkrrerrrkaik*  parent Process FhEkkkkkkrkxine),
while (1)
H

} /* process */ -

xmain()

{ . .

resume (create (procéss, INITSTR, INITPRIO, "process",0));
} /* smain */




E: \USERS\EYTAN\XINU4WIN\NEWSRC\EXAM?LES>tstxfrk
Initlalzz;ng . ,',k.

PC~-Xinu Versxon Gpd (1~Dec 87)
63864 real mem -

18312 base addr

45552 avail ‘nefi

Hit any key to goiitinue . . .

Kk kkkrFrARkdknr  ohilg procassg **kkkkkrrxn
PID is 24 and ID is 0.

n is 100, *nptr is 999 and nptr is 26138.

kkkhhkkxrkkkwd  cHild process FrkkhkEkkkkAx

Fhkkkkkkkkkhkhkx  parant pProcess ¥hEkEkkkkkk
PID is 25 and ID is 24.
n is 999, *nptr is 999 and nptr is 26138.

Ak hrhh pareﬁt '-pr‘C}CQSE tE X & R X3 2 4

kd Rk hkkkRihr parent pro‘cess Kddkhk ki iRk
PID is 25 and ID is 24. ,
n is 300, *nptr is 300 and optr is 26138.

'YYETEY R ERE XL XL parént procass LI XTI XL 3

Press enter to continiie ...

kkkkkkhkkakkdd ochild processg ***kkkkkrkd

PID is 24 and ID is 0.
n is 100, *nptr is 300 and nptr is 26138.

********i&i*** chiid process %W kg ke ok ok KRk
ok i ke R e W R W e o e R chila'process o & % e P gl g ok e v
PID is 24 and ID is 0.

n is 707, *nptr is 300 and nptr is 26138,

khkkkkhkkkkrkrd cHild procesg **¥FrkkEkdkixx

pieN
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/* agyncl.c -~ prod2, cong2 */

#include <sBys/types.h>
#include «<syg/ipe.h>
#include <sys/shm.h>
#include <stdio.h>

volatile int *n;

/* mmmmmmmmmmm L Ny V. o o e e e e o o e Tl e T e e o S e o o G e . am
* main -~ producer and consumer procesges synchronized with semaphores
T it ot o e P S W W W T R e Y AR R T Y i e T A - O - ——
o 4

int main()

{

int prod2{), cons2(};
int semid, shmid;

struct shmid_ds buff;
shmid = shmget (0, sizecf(int), 0666);

n = {int*}ghmat{shmid,0,0};
*n = 0;

if ( fork{} )

/* Parent process */
consZ();
elge /* Child process */
prodz();

ghmdt ( (char *)n);

shmctl(shmid, IPC_RMID, &buff);

raeturn 0;
}
. e e i S Sl ¢ B P i ot S 8 e e o
* prod2 -- increment n 20 times
K s e e Bl o e 2 i A S S B B R T . o e 1 o et o e
*/
int prodz{)
{
int i;
for (i=1l; i<=m20; i++) {
{(*n)++;
}
}
/* ————————————————————— W WA MR AR e w e S S e M e LR WA AR WS R W W e s e i e i e e e W b wb el Mer e mm wm I R e e

* gons2 -- print n 20 times

BINPN




*/

int consl()

{
int iz
for {(i=1; 1i<=20; i++) {

printf{rn iz %d\n", *n);

)]

}

cc asyncl.c
Sfa.out
is 20
is 20
is 20
is 20
is 20
ig 20
is 20
is 20
ig 20
ig 20
is 20
is 20
is 290
is 20
ig 20
ig 20
ig 20
is 20
is 20
ig 20
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/* agyncz.c ~ prod2, cons2 %/

#include <sys/types.h>
#include <sys/ipc.h>
#include <sys/ghm.h>
#include <stdic.h>

volatile int *1 ;

* main ~- producer and consumer processes synchronized with semaphores
T o e - e e o e T e e T U o o T M ke Gk W B L AR R S R T e P A S W b e e e W A e A AR W W M e A e

*/
int main{)
P .
int prod2(), cons2();
int gemid, shmid;
struct shmid_ds buff;
shmid = shmget (IPC _PRIVATE, sizeof(int), 0666);
n = (int*)shmat (shmid, 0,0);
*ry o= 0
if { fork() == 0 )
/* Child process *®/
cons2();
else /* Parent process */
prod2{);
ghmdt { (char *)n};
shmotl (shnmid, IPC_RMID, &buff);
return 0;
}
o = e . o Al W W 0 O 2 B . P B B P N e
* prod2 -~ increment n 20 times
B o e ot e A v - W e S W S " o W WO oy WS WO WS ) B Ml M ML T W TR NTR NTLOWTE M MM G N T W W 4 W T W R R PR W m e W
*/

int proed2()

{ ,
int i;

for (i=1; i<=20; i++) {
(*n}++;

* cons2 -~ Pprint n 20 times




T e e T T O Y T e o W W T Y T AR e B A A S B N S A S S 0 o SO S0 TP Y 4 e e s

*/

int cons2{)

int

*nj;

printf("n is %A\n",

for (i=1; 1<=20; i++) {

co async2.c
out

=~
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/* demo_gig par.c -~ traps a signal - */

#include <stdio.h>
#include <signal.h>

void handler{int signum)
if(signum == SIGINT)
{
signal (SIGINT, handler);
printf ("I wont be interrupted!\n");
} /% 1if %/
elze
if{signum == SIGTSTP}
{
gignal (SIGTSTP, handler):;
printf ("I wont be suspendedl\n©);
} /* Lf */

} // handler

int main(}

{
int i, pid;

signal (SIGINT, handler};
signal (81GTSTP, handler);

for {(i=1; i < 50; i+4+)

{
printf{"Ha Ha Ha Ha \n");

gleep(2);
} /% For */
return 0;

} /* main */

% cc demc_sig par.c
% .fa.out

Ha Ha Ha Ha

Ha Ha Ha Ha

Ha Ha Ha Ha

I wont be suspended!
Ha Ha Ha Ha

Ha Ha Ha Ha

I wont be interrupted!
Ha Ha Ha Ha

Ha Ha Ha Ha

guit

%



/7 uvnert3.c

#include <stdioc.h>

#include <stdlib.h>
#include <unistd.h>»
#include <sigmal.h>
#include—~sys/types+h>——-

int create(char path[]l, char argv0[]l, char parmi[], char parm2[],
char parm3[])

{
int pid:

if ( (pid = fork()) == 0 )}
{
kill{getpid(), SIGSTCP);
execl (path, argv0, parml, parm2, parm3, 0 };s
exit(0});
} 7* child */
elge /* parent ¥/
return pid;

} /* create */

int resume{int pid)
{

return {(kill(pid, SIGCONT));
} /* resume */
int main(void)
{ int pid;
printf{"Before Create\n");
pid = create("/bin/ping", "ping", “-CT", vau wgtudy.haifa.ac.il");
sleep(3);
printf("Before Resume\n");

resume (pid);

return 0;
} /* majn */

% cc uncri3.e

% ./a.out

Before Create

Before Resgume

% PING study.haifa.ac.il {(132.74.1.26) 56(84) bytes of data.

T




64 bytes from study.haifa.ac.il (132.74.1.26): icmp seq=l ttl=254

time=0.445 ms
64 bytes from study.haifa.ac.il (132.74.1.26): icmp_ segm=2 ttls=254

time={0.390 ms
~—- gtudy.halfa.ac.il ping statistics «=<

2 packets—transmitted,—3--received, 0% packet loss, time $95ms
rtt min/avg/masx/mdev = 0,390/0.417/0.445/0.034 ms

%

RN




/* Byncl.c - prod2, cons? */
<gys/types.h>
<gys/ipc.h>

#include <sys/shm.h>

#include <stdio.h>
#inciude—<stdlibsh>—— -
#include <unistd.h»

#include
#include

typedef gstruct n
{

int n;

int flagl;

int flag2;
}

N, *NPTR;

volatile NPTR n;

gizeof (M),

/*
* main -~
W
*/
int main{)
{
int prod2(}), cons2{):
int shmid;
gtruct shmid ds buff;
shmid = shmget (IPC_PRIVATE,
n = (NPTR)shmat(shmid, 0,0};
n-»n = {;
n->flagl = 0
n->flagl = 1;
if ( fork{(} )
/* Parent process */
consg2({):
elaa /* Child process */
prod2{);
shmdt ({chax *)n):
shmetl{shmid, IPC RMID, &buff};
return 0;
}
/*
* prod2 ~- increment n 20 times
* ———————————————————————————————————— LK B ]
*/
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int prodz(}

{

int i;

for {(i=l; i<=20; i++) {
white{n~>flagl == 0)
{n->n)++;
n~>flagld = 1;
n->flagl = ¢;

}

return 0;

}

{*mmw—-—-l ———————— W e g e e e e e W G IR W TR TR VIR DU EUR D AR A WA W SR IR S mmm wm dekh otk Y bk e e W0 e e i sk i e ey e e e e A T W BN W S ke
* g¢ong2 -~ print n 20 times
B sa e 1 o 2 e e e o e B e T S e S i R R Sl Y W B e e ———————
* 7

int cons2{)

i

int i;

for (i=1; i<=20; i++) {
while{n->flag2 == 0)
printf{"n is %d\n", n-»>n);
n~>»flagl = 1;
n->flag2 = 0;

}

return 0;

¥

% ¢ pyncl.c

% a.out

n is 0

n is 1

n is 2

n is 3

n is 4

n is 5

n ig 6

n is 7

nis 8

nis 9

n isg 10

n is 11

n is 12

n is 13

n is 14

n is 1%
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